
 

A. Complete the sentences with correct forms of the following verbs; some verbs 

are not used: EMERGE, IMPLEMENT, EXPLOIT, BACK, CHARGE, ACKNOWLEDGE, 
DEPOSIT, BORROW, LEND, SEEK 

1. She ___________________________ compensation in the courts. 
2. I did not ___________________________ that he had done anything wrong.  

3. The government aims ___________________________$3 billion on the bond market.  
4. The company ___________________________ a loophole in the law to allow it to fire 10 

staff for refusing to work on Sundays. 
5. More evidence has ___________________________ that sales growth during the holiday 

season was very weak. 
 

B.  Complete each sentence with a word made from the word given in brackets. 
1. They regard Mexico as a huge _____________________ market for their products. (TAP) 

2.  They charge rates to their borrowers based on _____________________ of risk factors. (ASSESS) 
3. You need to make proper _____________________ for marketing costs. (ALLOW) 
4. In this respect, Britain compares ___________________ with other European countries. (FAVOUR) 
5. Lenders have been accused of failing to assess of____________  the customers. (CREDITWORTHY) 
 
C. Fill in the gaps with a suitable preposition or adverbial, if necessary: 

1. You’ll have to pay interest _____ the loan. 
2. The money was repaid _____ interest.  

3. The company cannot sell its assets as they act as collateral _____ its loans. 

4. The project became so expensive that we had to pull _____. 
5. Can you tell me how the accident came _____? 

 
 

D. Translate the following expressions into English: 
1. splatit jak jistinu tak úroky z půjčky – 

2. být obviněn z podávání chybných informací – 
3. dohlížet na měnovou politiku -  

4. stanovit směnný kurz národní  měny – 

5. koupit na úvěr - 
6. otevřít si běžný účet – 

7. nízka úroveň zdanění přitažlivá pro zahraniční firmy – 
8. spravovat finanční prostředky jménem klientů -  

 


